L YA 2 A% B 51 B582 858 17—\ B
NNV T RUE 5mg/kg d1
TEHYSSF =y 85mg/m? d1
Bev+mFOLFOX6 LRy +— k V| 200mg/m? dl 14H
ZFOT T (BR) = 400mg/m? d1
JLFOYT UL () S 2400mg/m? d1~d3
NS A 6mg/kg dl
FEHUTSF V| 85mg/m?’ di
P-mab+mFOLFOX6 L R&UF— b V| 200mg/m? d1 14H
JrFau sy (8K SE 400mg/m? d1
ZuFOT Il () = 2400mg/m? dl~d3
Ve D V| *1) 400mg/m’—250mg/m? d1, d8
FTEHYSSF =y 85mg/m? d1
C-mab+mFOLFOX6  LARKU F— b =¥ 200mg/m? d1 14H
ZFAaT s (BR) = 400mg/m? d1
JLFAYTUL () A 2400mg/m? d1~d3
FTEHYTSF =y 85mg/m? d1
EOLFOXE LARKYF—F =¥ 200mg/m? d1 145
ZFaT s (BE) = 400mg/m? d1
ZFaTS L () =¥ 2400mg/m? d1~d3
RN X2 T g 7.5mg/kg d1l
Bev+CapeOX FEYYTIF = 130mg/m? d1 21H
HRL L AR 1000mg/m?/[e] dl (%) ~d15 (&)
CapeOX FTEHYTSF =¥ 130mg/m? d1 15
HRL L AR 1000mg/m?/[e] dl (%) ~d15 (&)
NN RT T S 7.5mg/kg dl
Bev+SOX FTEHYTSF =bs 130mg/m? dl 21H
FY—TRT YV MAR 80mg/m/day dl (#) ~d15 (GA)
SOx FTEHYTSF =bs 130mg/m? dl 218
FY—TRT YV MAR 80mg/m/day dl (#) ~d15 (GA)
RNV X< T RUE 5mg/kg d1
AU/ FHhY b 150mg/m? d1
Bev+FOLFIRI LAREYF—k =y 200mg/m? d1 148
ZLFaTSUIL (AR) =y 400mg/m? d1
ZILFAY T () =b 2400mg/m? d1~d3
SLYILTT J=viil 8mg/kg dl
1)/ F5hv V| 150mg/m? d1
Ram+FOLFIRI LARFRYF—k U 200mg/m? d1 148
ZLFaTSvL (AR) =¥ 400mg/m? dl
ZLFaTS UL () =y 2400mg/m? dl~d3
RERTESS = 6mg/ke dl
AV ThY b 150mg/m? d1
P-mab+FOLFIRI LRkl F+— bk = 200mg/m? d1 14H
ZLFAYT I (BRE) =y 400mg/m? d1
JhFaTIIIL () SE 2400mg/m? d1~d3
A =V *1) 400mg/m’—250mg/m? d1, d8
19/ 57h> =i 150mg/m? dl
C-mab+FOLFIRI LARFKYF—h i 200mg/m? d1 148
ZLFAaTSUL (AR) =8 400mg/m? d1
ZuFOT 5L () = 2400mg/m? dl~d3




AU FHhY SiE 150mg/m? d1
LARKYF—F =8 200mg/m? dl
FOLFIRI - 148
ZFOT T (BR) =¥ 400mg/m? d1
TFAYS I () =y 2400mg/m? dl~d3
RN T 2iE 5mg/kg dl
4/ TFHAY = 165mg/m? dl
Bev+FOLFOXILI LARFKYF—F = 200mg/m? d1 14H
FEHFYTSF = 85mg/m? d1
ZILF AT T (B =V 3200mg/m? d1~d3
AV /) FThY sy 2 dl
RIS (q3w) T i 150mg/m 21H
FY—TRTV MAR 80mg/m/day dl (#) ~d15 (88)
LAY/ Fhv =i 2 d1, di5
RIS (gdw) T i 125mg/m 286
FY—TRTV MAR 80mg/m/day dl (#) ~d15 (88)
NS RT T =E 5mg/kg dl
LARFYF—F = 200mg/m? dl
Bev+sLV5FU2 . 148
ZFOTSL (AR) = 400mg/m? d1
TAAT T () A 2400mg/m? dl~d3
DT = 6mg/kg dl
LARKYF—F = 200mg/m? dl
P-mab+sLV5FU2 - 14H
ZLFaTSUIL (AR) =¥ 400mg/m? d1
TAFaT TN (B A 2400mg/m? dl~d3
LARFYF—F = 200mg/m? d1
sLV5FU2 ThAFATIUIL (BE) EE 400mg/m? d1 148
ZFOT 5L (B = 2400mg/m? dl~d3
CPT-11 AY I TFHhY = 150mg/m? d1, di5 358
P-mab A=AV NN=4vA =y 6mg/kg d1l 148
R=Y =T ] 6mg/kg dl
P-mab+CPT-11 n 14H
A/ FhY =¥ 150mg/m? d1
C-mab tyEv~wT =¥ *1) 400mg/m?*—250mg/m? d1 7H
C-mab S VE D v 500mg/m? d1 148
AV D ayA =%l *1) 400mg/m2*>250mg/m2 dl, d8, di5, d22, d29, d36, d43
C-mab+CPT-11 (biweekly) N 49H
4/ FAY =¥ 150mg/m? d1, di5, d29
tyEv~wT =¥ %1) 400mg/m?—250mg/m? d1, ds, dis, d22, d29, 436
C-mab+CPT-11 (weekly) N 42H
AU/ FHhY B 100mg/m? d1, d8, di5, d22
RNV R T =i 7.5mg/kg dl
Bev+XELIRI 4Y /) FHAY S 150mg/m? d1 21H
HREEY PR 1000mg/m?/[E] dl (%) ~d15 (&)
NN 2T J=pic] 7.5mg/kg d1l
Bev+IRIS AV TFhY = 150mg/m? dl 21H
FAU—TRTY MR 80mg/m/day dl (%) ~di15 (&)
NS AT T = 7.5mg/kg dl
Bev+Cape ) ) 21H
AR RE Y AR 1000mg/m?*/[@] d1l (%) ~di15 (&)
NN RTT =Y 5mg/k d1, di15, d29
Bev+S-1 i 4 gz 42H
FAU—TRTY MR 80mg/m/day dl (%) ~d29 (&)
RN 2T g 5mg/kg d1, di5
Bev+UFT/LV o ~ 28H
FH7—=I 9520 PIAR 300mg/m?/day dl (#) ~d22 (&8)
RN 2T S 5mg/kg d1, di5
Bev+TAS102 28H
FUTZLUSY - FES L ILERE N AR 70mg/m? d1 (5) ~d6 (#) ,d8 (5) ~d13 ()

*1)#0[E1£400mg/ . 2[E B LAR&I£250me/ .




